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Question numbers 1 to 8 carry 1 mark each. For each question four alternatives
choices have been provided of which one is correct. You have to select the correct

choice.

(81) Y% x 481 F1 SeH 9 & ;

A) 9 (B) 3 (S)

The simplified value of (81) V% x 48T is:

(A 9 B 3 (<€)

J2 T H W E

(A) 0 B 1 (©

V2 isthe polynomial of degree :

A o Bt & ()

AR px)=3x" -2 —x+4 7, Ap(—1) T & :

(a) =2 (B) 4 (©)

If p(x) =3x" —2x* —x+4 then p(—1) is equal to :

A -2 (B 4 (€
2 - -

(Ji + Y| mm

(A) 42 ® % ()
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(-ff + }/Jf) is equal to :
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G AXYZ, T 2Y > ZX HRXY =13 cm, TXZ

(A) 8em B) 9em (C 135cm D) 13cm

If in a triangle XYZ, £Y > #X and XY =13 cm, then XZ is:

(A) 8cm ®) 9cm (©) 135cm (D) 13em
7w faig -394 F oo R F ymfag A3 wi g W, @ fag & Pdwiw €
Ay (0.3 (B (©-3) © GO D) (=30

If a point is on negative side of y-axis at a distance of 3 units from origin then, the
co-ordinates of the point are :

(Ay (0.3 (B) (0.-3) © G0 D (=30 .
o foig & fewis (—2,3) % MemstvamAgh 2

(A) 2758 (B) -3%E © -2%FdE (D) 3%FE
Co-ordinate of a point are (— 2, 3). Its distance from r-axis is :

(A) 2 units (B) —3units (C) —2units (D) 3 units

@WUE-8§ /SECTION-B
YT HEAT 9§ 14 7% S & 2 AHF £l

Question numbers 9 to 14 carry 2 marks each.
s 0 1§ fafe

845 + 2450 — 3147

Write in simplest form :

8J45 +2./50 — 3147

k 1 U1 O 9@ I 6 (x—1) 52° + 42" — 63+ 2k F1 TF TOFETS 8 9L
Find the value of k, such that x—1 is a factor of 5° 4+ 4x" — 6x + 2k

OGS FHI 1"~ 125 xy’

Factorise x*—125 xy°
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13.

14.

fifwmadifgA peRcmmrEFEpsifemaascsamd ) fom
Hifee fF AB+BC=AC¥I

A B C.
In the figure, if A, B and C are three points on a line and B lies between A and C, then
prove that AB+BC=AC,

A B C
A LAOC 3R /BOCTEF WA W ABF R &1 AR a—b=80"&, Ma diRbF 9=

IR Fifay |
C
m{ _

X a0, P
In the given figure ZAOC and #BOC form a line AB. If a—b=80", find the values of

aand b.
&
A 0 B
79T/ OR
o= ¥ AB, CD 3R EF o t@rd fig O W wmet €1 x o1 71 9 =it |
LE A
2x A\ A 2x
C= +D
5x
B F

In the given figure, AB, CD and EF are three lines concurrent at O. Find the value of

o e H IR 120 em AR e 50 12 13 % sum A €1 Pve 0 dewa 3w
T |

The perimeter of a A is 120 cm and its sides are in the ratio 5:12: 13. Find the area of
the triangle.
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Question numbers 15 to 24 carry 3 marks each.

T Fiforg [52[33’5 + 275 ]Tg

e

th

. |_ zlf }‘_.' 1s 3‘
Simplify : iLS %\E 3+ 2?“’3]

9T/ OR
0.235 # %%wﬁmﬁm sl p 3R q ot €, g0 %1

Express 0.235 in the form % where p and g are integers, q#0.

a AR b =1 97 W i, w=fe

2+8
m—ﬂ‘i‘bﬁ.

Find the value of a and b, if
V2 + V3 = a+b-/6.

W2 -23

s 4° — 162"+ 10 x + k 1 [OFETE 2¢—1 &, B k 1 97 719 Ffe

If 2x —1 is a factor of 4x” — 16x°+10 x +k then find the value of k.
39aT/ OR

AME x=2y+6 ¥, T x* — By’ — 362y — 216 F1 TH A7 Hifrg |
If x=2y+6, find the value of ¥’ — 8y — 36xy — 216.

A a’+b’+' =280 3R ab+be+ca= 94 &, T (a+b+c) &AM T Hifwg
Ifa*+b*+c*=280,and ab+bc+ca= y, then find the value of (a+b+c)°.

A p 3R q TR TEd &, T y 1 90 F9 HIwe |

+ :'q
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What is the value of y, if p and q are parallel to each other

3x—38
o :p
2x+10
-+ —+q
3«7
m
G/ OR
o % £PQR=£PRQ %, T firg #ife fF £PQS= /PRT | ZP %1 A9 91 wifag
wE% LPQR=70° ¥

'F

s Q R T
In the given figure, /PQR = /PRQ, then prove that ZPQS=/PRT. Also find £F if

ZPQR=7(",
P

s © R

1
B PQR %1 g1 QR W % fiig s ¥1 fiyg #ifse B PQ+QR+RP > 2PS §1

%F\
S is any p::-mt on the side QR of a triangle POR. Prove that PQ+ QR+ RP > 2PS,
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fa5 § AB=CD, ZABD= /CDB & fog e fF AD=CB &/

(i
5

A B
In the given figure AB=CD, ZABD = ZCCB. Prove that AD=CB.
D

o

.

A B

A ABCD ¥ g E, Yo BC %t guigwifam st &1 fog #ife fs AE=ED ¥
D C

E

A B
In a rectangle ABCD, E is a point which bisects BC. Prove that AE=ED.
D i

A B

" ofE e F O Y I S, O 39 WHR S S S S 2 a: st
HU % G0 F IR e 1 g Fifew

“If a side of a triangle is produced, then the exterior angle so formed is equal to the
sum of interior opposite angles”. Prove it.

Fq4s ABCD &I &5%H T1d Hitag sielfes AB=7 cm, BC=6 cm, CD=12 cm, DA =15
cm FRAC=9cm ¥1

Find the area of the quadrilateral, ABCD where AB=7 ¢cm, BC=6 cm, CD=12cm,
DA=15cm and AC=9 cm.
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Question numbers 25 to 34 carr_v,r 4 marks each.

=5

Hp=%andq=—£~i—£’ find p*+q~
319aT/ OR

T 3—IJ§ - ﬁiﬁ ¥ ?iJE 3 JELE k J§1—2

Bl = =

mﬁﬁa;‘; wiiﬂsﬁ ¥ 3?223

simpity 20 - =

UGS HITIE 26 — %" —13x —6.
Factorise 2x° —x*~13x — 6.

FEIE plx) =
Eatud

The polynomial p(x) = 2x* —3x" +ax—3a+9 when divided

22 -3 +ax—3a+9F x4+1 8 W 2 W IEH 16 F, 9 a FHAA TG
AR p(x) F x+2 F 9P fam =g, & $vwme = g ?

by x+1, leaves the

remainder 16. Find the value of a. Also find the remainder when p(x) is divided by

x+2.

S A 5 =y =

(x—y) (¢ +xy+ ) T FE 216 x* - 125y F [OFETE HifWYI

Verify x —y3= {x—y) {xz+xy -+ yz}. Hence factorise 216 x° — 125 f

F #Ea ABCD & 9 ¥ A(1, 3), B, —1) 3RC(-1, - 1)

A e e

Fafan Fitae 2K 555 919 v D ¥ s 79 i 19 &1 a9%d |9 [

it |

Three vertices of a rectangle ABCD are A(1, 3), B(1, —1) and C(~1, —1). Plot these
points on a graph paper and hence use it to find the coordinates of the 4th vertex D.

Also find the area of the rectangle.

Page 9 of 11



o1~ L

fe= & 4% ABJICD &, 91 x 3iv y T Fif

A /:'r

2{}’ ——i

E
221)
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5375{

In the given figure, findlthe value of x and y if AB||CD.

A /2 »B

2[]:!

53711
//S/aABceihaPQRﬂfAB=PQ,aC=PR'ai‘mﬂﬁ'ﬁﬁAmaPNw§| ayise T
AABC = APQR ¥

In A ABC and APQR, AB=PQ, AC=PR and altitude AM and PN are equal. Show
that AABC = APQR:

C—

C

9ET / OR
R i o < Byt wafmer 878, R O P % @ F s o siwtn we, T
Pyt & < il 3R Tt siwfa s s E )

Prove that two triangles are congruent, if any two angles and the included side of one
triangle are equal o two angle and the included side of other triangle.

/3/ o3 4 /BCD=2ADC 3R Z/ACB=/BDA ¥ =vizu fis (i) AD=BC, (ii) £ZA=2/B ¥
Ax B :

& D

In the given figure, #/BCD = ZADC and ZACB = Z/BDA. Prove that (i) AD=BC,
E;:} LA=/B,

B
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fast § RP=RQ 3R APQR %I yoiii QR, PR W #59: M 3N 70 7R £ f5
QM=PN &1 fig Fife i OP=0Q ¥, @ féig O, PM sk QN =1 whrde fiig &1

R

(0}

P Q
In the given figure, RP=RQ and M and N are respectively points on sides QR and PR

of APQR, such that QM =FN. Prove that OP =OQ where O is the point of
intersection of 'M and QN.
R

-00o0-
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